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- Model Test One

Part I Writing (30 minutes)

Directions: For this part, you are allowed 30 minutes to write a composition on the topic On a

Harmonious Dormitory Life. You should write at least 120 words following the outline given be-
low in Chinese:

L. A8 & AT A I 2 S BLAS A Y 1 20
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On a Harmonious Dormitory Life

Part II Reading Comprehension (Skimming and Scanning) (15 minutes)

Directions: In this part, you will have 15 minutes to go over the passage quickly and answer the
questions on Answer Sheet 1.

For questions 1 -7, mark

Y (for YES) if the statement agrees with the information given in the passage;

N (for NO) if the statement contradicts the information given in the passage;

NG (for NOT'GIVEN) if the information is not given in the passage.

For questions 8 - 10, complete the sentences with the information given in the passage.

Natural-gas Vehicles

‘Kermit the Frog once said, “It’s not that easy bein’ green.” Although he wasn’t referring
to cars, his observation seems particularly appropriate for the auto industry today: Designing,
developing and marketing “green” cars has not been an easy task, which is why gasoline-pow-
ered vehicles still rule the road and fossil fuels still account for almost 75 percent of the world’s
energy consumption. As gasoline prices soar and concern over harmful emission mounts, howev-
er, cars that run on alternate fuel sources will become increasingly important. A natural-gas ve-
hicle, or NGV, is the perfect example of such a car — it’s fuel-efficient, environmentally
friendly and offers a relatively low cost of ownership.

Natural Gas Basics ;

The word “gas” is a confusing term because it is used to describe many different substances
that are similar but not exactly the same. For example, the “gas” you put in your car is gaso-
line, one component of crude oil, or petroleum. Petroleum is a dark, sticky liquid mixture of
compounds formed underground by the decay of ancient marine animals.

Natural gas also comes from the decay of ancient organisms, but it naturally takes a gaseous
form instead of a liquid form. Natural gas commonly occurs in association with crude oil. It is
derived from both land plants and aquatic organic matter and forms above or below oil deposits.
It is often dissolved in crude oil at the high pressures existing in a reservoir. There are also res-
ervoirs of natural gas, known as non-associated gas, that contain only gas and no oil.
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Natural gas consists primarily of methane and other hydrocarbon gases. Hydrocarbons are
organic compounds composed only of the elements carbon and hydrogen. The hydrocarbons in
natural gas are called saturated hydrocarbons because they contain hydrogen and carbon bound
together by single bonds.

Like gasoline, natural gas is combustible, which means it can be used in a combustion en-
gine like gasoline. But cars that could burn natural gas didn’t appear on the scene until the
1930s.

From Field to Ford

We extract natural gas trapped in underground reservoirs by drilling wells into the earth. A
modern well, equipped with diamond-studded drill bits, can drill to depths approaching 25,000
feet.

Throughout the 19th century, the use of natural gas remained localized because there was
no way to transport large quantities of gas over long distances. In 1890, the invention of a leak-
proof pipeline coupling made it possible to transport gas miles from the source. Improvements
in pipeline technology continued over the next two decades until long-distance gas transmission
became practical. From 1927 to 1931, laborers constructed more than 10 major natural gas
transmission systems in the United States, making natural gas a viable energy source for many
applications. The oil shortages of the late 1960s and early 1970s brought renewed interest in nat-
ural gas as a fuel source, especially for automobiles.

Today, owners of natural-gas vehicles can fill up their cars at one of 1,300 fueling stations
located in the United States. Honda also offers a personal natural gas pump to people who pur-
chase its natural-gas-powered Civic. The pump uses a home’s existing natural gas lines and can
be installed for $ 500 to $ 1500.

Natural—gés Vehicle Design

Natural-gas vehicles use the same basic principles as gasoline- powered vehicles. In other
words, the fuel (natural gas in this case) is mixed with air in the cylinder of a four-stroke engine
and then ignited by a spark plug to move a piston up and down. Although there are some differ-
ences between natural gas and gasoline in terms of flammability and ignition temperatures,

NGVs themselves operate on the same fundamental concepts as gasoline-powered vehicles.

Still, some modifications are required to make an NGV work efficiently. These changes are
primarily in the fuel storage tank, the engine and the chassis.
Advantages

The biggest advantage of NGVs is that they reduce environmentally harmful emissions.
Natural-gas vehicles can achieve up to a 93 percent reduction in carbon monoxide emissions, 33
percent reduction in emissions of various oxides of nitrogen and a 50 percent reduction in reac-
tive hydrocarbons when compared to gasoline vehicles. NGVs also rate higher in particulate
matter 10 (PM10) emissions. PMI10 particles transport and deposit toxic materials through the
air. NGVs that operate in diesel applications can reduce PM10 emissions by a factor of 10.

Natural-gas vehicles also offer these benefits:

NGVs are safer. The fuel storage tanks on an NGV are thicker and stronger than gasoline
or diesel tanks. There has not been an NGV fuel-tank rupture in more than two years in the U-
nited States.

Natural gas costs are lower than gasoline. On average, natural gas costs one-third less than
gasoline at the pump.

Natural gas is convenient and abundant. A well-established pipeline infrastructure exists in
the United States to deliver natural gas to almost every urban area and most suburban areas.
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There are more than 1,300 NGV fueling stations in the United States, and more are being added
every day.

Natural gas prices have exhibited significant stability compared to oil prices. Historically,
natural gas prices have exhibited significant price stability compared to the prices of petroleum-
based fuels. This stability makes it easier to plan accurately for long-term costs.

NGVs have lower maintenance costs. Because natural gas burns so cleanly, it results in less
wear and tear on the engine and extends the time between tune-ups and oil changes.
Disadvantages :

One of the biggest complaints about NGVs is that they aren’t as roomy as gasoline cars.
This is because NGVs have to give up precious cargo and trunk space to accommodate the fuel
storage cylinders. Not only that, these cylinders can be expensive to design and build — a con-
tributing factor to the higher overall costs of a natural-gas vehicle compared to a gasoline-pow-
ered car.

Another drawback is the limited driving range of NGVs, which is typically about half that
of a gasoline-powered vehicle. For example, Honda’s natural gas Civic, the Civic GX, can go
up to 220 miles without refueling. A typical gasoline-powered Civic can go approximately 350
miles without refueling. If a dedicated NGV ran out of fuel on the road, it would have to be
towed to the owner’s home or to a local natural gas refueling station, which might be harder to
find than a “regular” gas station.

Finally, it should be noted that natural gas, like gasoline, is a fossil fuel and cannot be con-
sidered a renewable resource. While natural gas reserves in the United States are still considera-
ble, they are not inexhaustible. Some predict that there are enough natural gas reserves remai-
ning to last another 67.1 years, assuming that the 2003 level of production continues.

1. This passage explains the basic idea of NGVs and examines the benefits of this technology.

2. Natural gas is mainly made up of methane and other hydrocarbon gases.

3. The basic principles applied to natural-gas vehicles are quite different from those applied to
gasoline-powered vehicles.

4. The biggest advantage provided by NG Vs is that they help reduce car accidents to a great de-
gree.

5. The average cost of natural gas is one third less than that of gasoline at the pump.

6. NGVs aren’t as roomy as gasoline cars because they have to give up cargo and trunk space to
accommodate the fuel storage cylinders. #

7. Unlike gasoline, natural gas can be regarded as a renewable resource.

1. [YJ[NJING] 2. [YJINI[ING] 3. [YJINI[NG] 4. [Y][N][NG]
sPYTINITING] "7 6. [YFINGING] 7ol ¥ T {NT[NG]

8. Not until the were the cars that could burn natural gas invented.
9. Natural gas trapped in underground reservoirs is extracted by
10. People renewed their interest in natural gas as a fuel as a result of of the
late 1960s and early 1970s.

Part III Listening Comprehension (35 minutes)

Section A

Directions: In this section , you will hear 8 short conversations and 2 long conversations. At the
end of each conversation , one or more questions will be asked about what was said . Both the con-
versation and the questions will be spoken only once. After each question theré will be a pause.
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During the pause, you must read the four choices marked [A], [B], [C] and [D], and decide
which is the best answer. Then mark the corresponding letter on Answer Sheet 2 with a single line
through the centre .

11. [A] At a concert. [B] In a museum.
[C] In a movie theater. [D] At a dinner party.
12. [A] It has just begun snowing. [B] She doesn’t like snowy days.
[C] It has been snowing for some time. [D] She doesn’t think it’s going to snow.
13. [A] They are changing their news program. [B] They are swimming in the channel.
[C] They are listening to the radio. [D] They are watching TV.
14. [A] To remember grammatical rules. [B] To enlarge vocabulary.
[C] To learn pronunciation. [D] To do oral practice.
15. [A] They’ve met before. [B] He does not remember the woman.
[C] The woman should agree with him. [D] They have never met before.

16. [ A] She thinks they don’t have to go to the concert.
[B] She proposes to go to the concert by underground.
[C] She thinks a car wouldn’t be any faster.
[D] She believes that the man’s brother should let them use the car.

17. [A] He lent her his extra pen. [B] He offered her a pencil.

[C] He was afraid of losing his pen. [D] He said he didn’t have any extra ink.
18. [A] It is wonderful. [B] It is not well-made.

[C] It is out of fashion. : : [D] It is unfit.

Questions 19 to 22 are based on the conversation you have just heard.
19. [A] The strength of ocean currents.
~ [B] The movement of sediment deep in the ocean.

[C] A new way of measuring the depth of the ocean.

[D] The best methods for studying deep ocean processes.
20. [A] What a turbidity current is.

[B] The causes of underwater earthquakes.

[C] How winds can affect some ocean currents.

[D] Why the book talks about turbidity currents.
21. [A] By crushing large amounts of stone.

[B] By causing mud or sand to mix with ocean water.

[C] By creating large waves on the surface of the ocean.

[D] By greatly ficreasing the ocean’s depth in some areas.
22. [A] To explain the effects of turbidity currents.

[B] To explain how winds cause turbidity currents.

[C] To remind the student about the next assignment.

[D] To remind the student where ocean sediments originate.
Questions 23 to 25 are_based on the conversation you have just heard.

23. [A] To invite him to a cookout. [B] To ask if she can borrow his car.
[C] To tell him about a trip she took. [D] To convince him to go on a canoe trip.
24. [A] Food. [B] A sleeping bag. [C] A canoe. [D] A tent.

25. [A] Because she will tell him what time they are leaving.
[ B] Because she will ask him whether his car is available.
[C] Because she will find out what kind of food he is bringing.
[D] Because she will find out whether he wants to go canoeing.




UES R TR B . - Egems
Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will
hear some questions. Both the passage and the questions will be spoken only once.. After you hear

a question, you must choose the best answer from the four choices marked [A]. [B], [C] and
[D]. Then mark the corresponding letter on Answer Sheet 2 with a single line through the centre.

Passage One

am A n
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Questions 26 to 28 are based on the passage you have just heard.
26. [ A] He went to a famous school.
[B] He was taught by his mother.
[C] He was taught by his father. ,
[D] His parents employed a good teacher to teach him.
27. [A] In 1848. [B] In 1858. [C] In 1868. . [D] In 1878.
28. [ A] Because the old one could not transfer signals clearly.
[B] Because the old one could not send messages quickly enough.
[C] Because the old one could not send more than one message-at the same time.
[D] Because the old one could only send two messages along the same line simultaneously.

Passage Two \

Nl Zzz4 72
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Questions 29 to 31 are based on the passage you have just heard.
29. [A] They live in bigger houses. [B] They live in villages or in towns.

[C] Each family lives on its own fields. [D] They use modern machines in farming.
30. [A] American farmers travel to church on Saturdays.

[B] The life of American farmers has changed with modern things.

[C] The schools are all far away so children always go to school by bus.

[D] American farmers still follow the old ways in spite of the changes in modern life.
31. [A] The life of farmers in America in general.

[B] The effect of modern ideas on the life on farms.

[C] The education received by children of American farmers.

[D] The difference between farmers’ life in the USA and that in other countries.

| 724 7 L2

Passage Three
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Questions 32 to 35 are based on the passage you have just heard.
32. [A] Your eyesight. [B] Your driving ability.
[C] The mechanical condition of your car. [D] Your knowledge of traffic regulations.
33. [A] To practise driving with an experienced driver.
[B] To drive under normal highway condition.
[€] To have the car checked by the license officer.
[D] To use it as an identification card.
34. [A] The license office provides the test vehicle.
[B] The examiner shows how to start, stop or park.
[C] The examiner watches you driving in your car.
[D] The test is carried out where there is little traffic.
35. [A} Drivers-to-be. [B] Traffic regulation makers.
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[C] License examiners. [D] Policemen.
Section C

Directions: In this section, you will hear a passage three times. When the passage is read for the
first time , you should listen carefully for its general idea. When the passage is read for the sec-
ond time , you are required to fill in the blanks numbered from 36 to 43 with the exact words you
have just heard . For blanks numbered from 44 to 46 you are required to fill in the missing infor-
mation . For these blanks, you can either use the exact words you have just heard or write down
the main points in your own words. Finally, when the passage is read for the third time, you
should check what you have written . :
There were twenty-three British universities in 1960. After a period of (36) in
the 1960s, there are now forty-eight, (37) the Open University and the Independent
University of Buckingham. There are thirty-five in England, eight in Scotland, two in Northern
Ireland, and one in Wales. They can be (38) into three types. The (39) uni-
versities of Oxford and Cambridge were set up in the twelfth century, but until the nineteenth
century they were the only English universities and (40) no places for women. How-
ever, another four universities were (41) in Scotland in the fifteenth and sixteenth
century. The second group of universities were (42) created between 1850 and 1930.
The third group (43) of new universities founded after the Second World War, and
later in the 1960s. Many of them were set in the countryside. (44)

A very small number of students leave university without finishing their courses. (45)
- Most students tend to live on campus, while others
may rent houses outside the university. (46) . But fi-

nancial costs are now changing these choices.
Part IV Reading Comprehension (Reading in Depth) (25 minutes)

Section A

Directions: In this section, there is a passage with ten blanks. You are required to select one
word for each blank from a list of choices given in a word bank following the passage. Read the
passage through carefully before making your choices. Each choice in the bank is identified by a
letter . Please mark the corresponding letter for each item on Answer Sheet 2 with a single line
through the centre. You may not use any of the words in the bank more than once.

Questions 47 to 56 are based on the following passage.

Language barriers present a variety of challenges for children of any age. In Houston a-
lone, bilingual education programs have helped many grade-school students 47  the trials
that accompany not being able to speak English.

In the past, such vital curriculum was not always readily 48 for children who needed it.
One person who experienced the 49  of school life without a bilingual program was UH edu-
cation professor Yolanda Padron.

As a child, Padrén and her family moved from Cuba to the United States. Settling in Land-
over, Mass. , she was placed into elementary school, but had no working 50  of English.
With that, she found herself at a 51 disadvantage.

“When I came here, I was in the fifth grade, but because I didn’t speak English, they put
me back a year,” she said. “We lived there for about six months before we moved to Houston.
When I came here, I still didn’t speak English, so I was placed back another grade. At the
time, that was the 52 on how to deal with children who didn’t speak the language.”
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Despite the awkwardness of being placed back two grade levels, Padron 53 some much-
needed attention from concerned teachers. After being 54 , it was learned that she was on
par with other students of her 55 age despite not knowing English. By the eighth grade,
Padrén was 56 able to join students in her peer group.

[A] little ; [F] response [ K] difficulties
[B] major [G] own : (L] knowledge
[C] impossible [H] happiness [M] available
[D] tested [1] lost [N] basically
[E] finally [ J] received [O] overcome
4
Section B

Directions: There are 2 passages in this section . Each passage is followed by some questions or un-
finished statements. For each of them there are four choices marked [A], [B], [C] and [D]. You
should decide on the best choice and mark the corresponding letter on Answer Sheet 2 with a single
line through the centre.

Passage One
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Questions 57 to 61 are based on the following passage.

A father’s relationship to his child’s current and future academic success and the level of
his or her development in academic potential and scholastic achievement are both factors with
some rather interesting implications that educators are beginning to study and appraise. As a
matter of fact, “life with father” has been discovered to be a very important factor in determi-
ning a child’s progress or lack of progress in school.

A recent survey of over 16,000 children made by the National Child Development Study in
London revealed that children whose father came to school conferences and accompanied their
children on outing did measurably better in school than those children whose fathers were not
involved in those activities. The study, which monitored children born during a week in March,
1992, from the time of their birth throﬁgh the years of their early schooling, further revealed

_ that the children of actively-involved fathers scored much higher in reading and math than those
children whose only-involved parent was the mother. The purpose of the study was to evaluate
the role played by fathers in the raising of a child. It indicated a much higher level of parental
involvement by the father than had been anticipated. Over 66% of the fathers were said to have
played a major role in parental responsibility.

The study also suggested that the greatest level of paternal parenting took place in the fami-
lies of only child. As the number of children and financial obligations increases, the father’s
apparent interest and involvement with the children decreased. However, no matter what the
size or financial condition of the family, a father’s active participation in the child’s develop-
ment made a definite difference in the child’s progress.

The study further revealed that while the frequency of overnight absences reflected a corre-
sponding deficiency (ft[fi) of the child’s level in math and reading, a father’s employment on
night shifts appeared to have little effect on the child’s academic progress. The data from the
study was obtained primarily through interviews from parents, teachers and physicians. The in-
formation evaluating the level of the fathers’ parenting performance was elicited (fif}) primari-
ly from the admittedly subjective observations of their wives.

57. The main discovery made in the study was that
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[A] children in large families tend to do poorly in school
[B] a father’s influence played a significant factor in the level of the child’s academic pro-
gress
[C] mothers were subjective in evaluating the roles played by fathers
[D] there is a correlation between socioeconomic status and scholastic achievement
58. The data accumulated was obtained through
[ A] observation by social psychologists
[ B] conversations with mothers of the children
[C] interviews, school records and physicians’ reports
[D] observations of fathers with their children
59. All of the children studied
[A] attended the same school [B] were in the same socioeconomic class
[C] were at the same age. [D] knew each other
60. According to the passage, children who tended to generally progress academically were
[A] those whose mothers gave them the most affection
[B] those whose fathers worked the night shift
[C] those who had no brothers or sisters
[D] from one-parent families
61. Evidence indicated that a high percentage of fathers were involved in the parenting process which
amounted to é
[A] about two-thirds of the fathers involved in the study
[B] slightly less than half of the fathers studied
[C] more than three-quarters of all the fathers
[D] a little less than one hundred percent of all fathers

2222
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Passage Two

Questions 62 to 66 are based on the following passage.

Training as mental-health professionals is supposed to be “color blind”. That sounds fine
but in practice it means that people from black and ethnic groups get an unfair treatment be-
cause their particular problems are seldom acknowledged.

So a project was piloted involving Bangladeshi women in inner city London, most of whom
migrated to the UK in the 1960s and 1970s from a rural background. Many of these women
turned to their doctors with common symptoms of anxiety, such as headaches, sleeping difficul-
ties, loss of appetite and lack of energy. They were usually prescribed tranquillizers G EH]) or
even Vitamin C. Since the underlying causes remained, the women visited their doctors with in-
creasing frequency and some were referred on to mental-health professionals.

The psychologists wanted to see how normal Western approaches to anxiety problems might
work when applied across cultures. However, they found that many things in the standard ap-
proach had to be changed. They had to translate many of the usual examples — they would nor-
mally compare learning to relax with learning to drive, for instance, which would not have been
culturally appropriate. At first they asked the women to rate, on a scale one to ten, the effect
of relaxation on their level of anxiety. They found numbers an odd way of expressing how they

were feeling. So psychologists shifted their focus to words and talked of five stages form “very
good” to “very bad”.
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As it was a pilot project, there were shortcomings. Psychologists looked for too little back-
up and did not collect as much objective data as they might have done with a white group. They
fell into the white stereotype of assuming that Bangladeshi women would find the use of various
checklists and written records foreign. Perhaps racism has conditioned the professionals to a
greater extent than they expected. Psychologists found that using a Western model across cul-
tures has potential. But it needs political, financial and personal commitment.
62. What does the phrase “color blind” in Paragraph 1 mean?
[ A] Not liking people from ethnic groups.
[B] Giving specialized treatment to ethnic groups.
[C] Unable to distinguish certain colors.
[D] Not treating ethnic groups differently.
63. The Bangladeshi women continued to visit their doctors because
[A] they were lonely and isolated
[B] the reasons for their problems were still there
[C] they were being prescribed certain drugs :
[D] they were referred to mental-health professionals
- 64. The standard approach to treating anxiety had to be changed in that
[A] the cultural background of the women was very different from the standard one
[B] the Bangladeshis were exposed to racist harassment and language difficulties
[C] the Bangladeshi women asked them to change it
[D] the women could not relax
65. What has led to the failure of the mental-health professionals’ collecting sufficient data?
[A] They fall into stereotypes resulted from the influence of racism.
[B] They have language problems while communicating with the women.
[C] They want to protect the women from racism.
[D] Bangladeshi women do not want to tell the psychologists their feelings.
66. Which of the following statements can best summarize the main idea of the passage?
[ A] Bangladeshi women living in Britain suffer from different levels of anxiety.
[B] Western models prove to be unsuccessful in treating psychological problems of ethnic
groups. ¥
[C] Mental problems of ethnic groups have not got due recognition.
[D] People relate better to people of similar backgrounds.

Part V Cloze (15 minutes)

Directions: There are 20 blanks in the following passage. For each blank there are four choices
marked [A], [B], [C] and [D] on the right side of the paper. You should choose the ONE that
best fits into the passage. Then mark the corresponding letter on Answer Sheet 2 with a single line
through the centre.

The term “quality of life” is difficult  67. [A] composes [B] consists
to define. It 67 a very wide scopé [C] covers [D] constitutes
such as living environment, health, em-  68. [ A] excursion [B] reservation
ployment, food, family life, friends, ed- [C] recognition " [D] recreation
ucation, material possessions, leisure and  69. [A] Basically [B] Generally
68 , and so on. 69 speaking, the [C] Primarily [D] Frankly
quality of life, especially as seen by the = 70. [A] terms [B] place

individual, is meaningful in 70 of the [C] means [D] way




IKEmiz
degree to which these various areas of life
are 71  or provide satisfaction to the

individual. As activity carried 72 as
one thinks fit during one’s spare time,
leisure has the following 73 : relaxa-
tion, recreation and entertainment, and
personal development. The importance of
these 74  according to the nature of
one’s job and one’s lifestyle. Thus, peo-
ple who need to 75  much energy in
their work will find relaxation most
76 in leisure. Those with a better ed-
ucation and in professional occupations
may 77 more to seek recreation and
personal development (e. g. 78 of
skills and hobbies) in leisure. The specif-
ic use of leisure varies from individual to
individual. 79 the same leisure activi-
ty may be used differently by different in-
dividuals. Thus, the following are possi-
ble uses of television watching, a (n)
80  leisure activity, a change of expe-
rience to provide 81 from the stress
and 82
what is happening in one’s environment;

of work; to learn more about

to provide an opportunity for understand-
ing oneself by 83 other people’s life
experiences as portrayed (#i#:)in the pro-
grams. 84 leisure is basically self-de-
termined, one is able to take 85 one’s
interests and preferences and get 86

in an activity in ways that will bring en-

joyment and satisfaction.

Part VI

=

71. [ A] adaptable
[C] available
1A Fant
[C] away
73. [ A] definitions
[C] functions
74. [A] alters
[C] shifts
75. [A] provide
[C] consume
76. [A] preferable
[C] feasible
77. [A] tend
[C] select
78. [ A] training
[ C] nutrition
79. [A] Still
[C] Even
80. [A] correct
[C] precise

S EA separation-

[C] flight

82. [A] relief
[C] squeeze

83. [A] contrasting
[C] matching

84. [A] Although
[C] Whether

85. [A] after
[C] with

86. [A] involved
[C] attended

Translation

WWW. sinoexam. cn

[B] approachable
[D] agreeable
[B] through

[D] off

[B] identification
[D] operations
[B] varies

[ D] changes

[B] hire

[D] exert

[B] desirable
[D] rational
[B] prefer
[D] oblige
[B] promotion
[D] cultivation
[B] Yet

[D] So

[ B] adequate
[D] proper
[B] escape
[D] isolation
[B] anxiety
[D] strain

[B] comparing
[D] measuring
[B] Since

[D] Therefore
[B] on

[D] to

[ B] participated
[D] employed

(5 minutes)

Directions: Complet_e the sentences on Answer Sheet 2 by translating into English the Chinese given

in brackets .

87. I don’t mind (/iR fE Pk & as long as it is not too late.
88. We have been told that under no circumstances (/A g F 7524 % L HL3% ) for personal affairs.
89. My train arrives in New York at eight o’ clock tonight. The plane I would like to take from

there IS 2 & K& T).

90. (BT A5 1Y i BE B L1 ) because of the snowstorm., many passengers could do nothing but take

the train.

91. A survey was carried out on the death rate of new-born babies in that region, (i £ 45 .4 A

ZA0 .
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Key to Model Test One

‘Part I Writing
[ YA SCR — 8 W0 2 A AR 18 B BLE 3T Mﬁ‘%lﬂ@%%‘—,mﬁE?’FﬂiE‘ﬁ‘%EiﬁH‘M‘é‘E‘ﬁ-#%tﬂﬁ'ﬁﬁ%ﬂiﬁﬁ%&
: BRI .
(5 VRSB B 5 — B 2 B LA 7 & AR TS A A Z AL
BB NERF T HRIEMENESEERER.
FEBRRHEENEEEEBN=1TE,
BB B2,
(3 3R P

On a Harmonious Dormitory Life

Dormiitory life is an indispensable part of college life. ———— (DI HBEEABHHERE— KFAR

But sometimes the harmony in the dormitory will be dis- PR 7 R 5
turbed in one way or another. For exarnple,—sﬁ&’m\(z ) 5 %6 =5 4], U B AR AE KO IR R
listen to music late into the night and make those light
sleepers restless. Worse still, the smell of some students’ (3t —H B SR AIER .
socks is powerful enough to drive other members out of the
room.

As is known to all, a harmonious dormitory life is im- ———(4)%& M TG AIEEEAEBENER
portant to coilegg §tﬂd€!}£$ and benefits all the members, .
On one hand; we can have a good rest and put our heart in- & i | 5) M\ 7 T 14 BH AN TR A AR TS B 3R Ak .
to study. On'the other hand. we will have a good mood and (6 M\ Ji ThI 5t B A A0 ¥ B 78 & 2 38 1O 3R
enjoy being together. In contrast, an unharmonious life will i, 5
be depressing and counterproductive. (DB B =B R H A8 M4 R ik e

‘There are several ways to create and maintain a harmo-. / EHEBH =R,

nious dorrmtory life. Firstly, you have to evaluate your life

style and try to get rid of your dirty habits, if there are
any. Secondly, when an annoying situation arises, you'll TR EAFE.
just have to learn to tolerate each other and co-exist. Third- /

ly, you'll have to share with each other and make good

friends.

In conclusion, we should try our best to build a harmo- ———————(9) B4 &3, 5 H KK B Ml 89 &
nious dormitory life for the sake of good study and good HE .
life.

Part 11 Readmg Comprehension (Skimming and Scanning)

LU@EFILY]. WEMREEEERERK, AERL FETET AR -T2, MBI E N A A SRR,
HXEABRIEEE — e, AEEEXEHNTE,HHFEZH skimming 575, 44 XEMREN &
B /MR AT, SCE T T R ARS8 T B B il JRFE (basics) » & B L 12 % 7 (design) \{ 5 (advantages) LA &
Bk & (disadvantages) . BB T U X BAR T RARSKAGE T H AR R SR EH ), basic idea XF 5 JF 3L
" B9 basics,benefits X} i J& LK) advantages,

2. (@mILY]. BTRRRKMOAR. — BB, &8 K IRTF 5&)&51&9@% R — B . RBENR B —1 /D
#58 Natural Gas Basics BAN R T RRKAEAM R, B4 /DA REE. RB)/M5E T 5% =B H ) Natural
gas consists primarily of methane and other hydrocarbon gases,H # consists of 5 made up of [7] X , primarily X} )A
mainly,

.URAIIN]. BFHRRSETE S K3 E TR M EA 7 (basic principles) fE L. 7E 47 & Natural-gas
Vehicle Design Fifi6 T RASIE T AN TIERE, HAHE L, RASKCHETAARMET A the same
basic principles, & T i quite different 5 JF SCHHE .

4. [EHIIN], BFITeH R NGV Bk advantage, 1§ 28 18 10 B 81 & 7E /MR B Advantages 4. B A]45 i biggest
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advantage /& reduce environmentally harmful emissions, 8 T 5 A% .

LORATILY ], ARBER RS average cost M F ¥ M  RAME th 2 K R S 19— 4 advantage, ISP o NG K b
7 Advantages /NRAIAL , B4 Natural gas vehicles also offer these benefits [ $& 7R , PF — 2 0 0 %8 W 4b E A
natural gas costs are lower than gasoline [ J§ — 4] : On average, natural gas costs one-third less than gasoline at
the pump, 8l F4F & & . '

6. (AT Y], AW F NGV R ig roomy, J& T disadvantage, [ I, 25 $& 3 [ 45 /)> 5] Disadvantages /NRAL . 45—
1) 4 th RSS2 T aren’t as roomy as gasoline cars, # % 55 A3 T 5 . give up precious cargo and trunk
space ... AT 58, A EKHAENEBELSH AW,

T OMATIIND . B — R 28 58 Ab AR AR 7E SCRE I 25 R 4 e —BOE A A finally 51 %, 388 T KRR K like gas-
oline, {1 /& a fossil fuel, &~ %% BH1E a renewable resource, £ T H1 {#) unlike A & can be regarded # 5 & AR5 .
8. [t 11930s, 5+ ¥5 K 3 i I K SR S 9 4R R 995 % 19 % W1, 76 natural gas basics [ £ J5 — 4] 4% 3| But cars
that could burn natural gas didn’t appear on the scene until the 1930s. METHREMMERT - TFTAXmHE.

9. [f#% #fr Xdrilling wells into the earth, AR E TR KRS W)L, From Field to Ford INBRAELR B Ak R
Ak BT HURH R SO 5 3hiE SR R T s shiE A,

10. K 17 Jthe oil shortages, as a result of 3 H T —FH L Z, M renewed their interest in natural gas S TiE

f, late 1960s and early 1970s {683 7 At ] . 7 From Field to Ford /NBR BT $% B %) B 149 4] F The oil shortages
of the late 1960s and early 1970s brought renewed interest in natural gas as a fuel source, especially for auto-

mobiles, i 3L ) brought gt & 7 —FIHBE XL Z.,

o

Part III Listening Comprehension
Section A

11. W:

The piano sounds terrible.

LT IAT. B H s, M piano Fl performance B

M: I wish I could ask for my money back. This A S ] ] U R AE T RS
performance is really a bad one. :
Q: Where are the speakers? ;
12. M: I think it’s starting to snow. Ot [ Cl. FIORMB. % = UG AR 8 4
W: Starting to snow? Look, the grounds are al- Starting to snow? & fiff A5 %) 56 4 , iy FL e I, 3 52
ready white. J¥ % & It has been snowing for some time, [A]
Q: What does the woman mean? H—E TP H M STHE already white 7] HE
B o
13. M: Will you please change this channel? 1 can’t [f##7Y[D]. 17 %1% 5 i, F ) &+ B Ben ,
stand this program. A A BE R XA B o Lo B AR B 0 5 4%
W: If you wait a minute, the news will be on next. 9T 9 H . A K 8 i@ channel (4 i) , pro-
I want to be sure to see it tonight. gram,see A #fE Wi TR EB B,
Q: What are these people doing?
14. M: What do you find difficult about language learn- [fig#7ik[C]. FIRGE ., Wk 4 find it dif-
ing, grammar, vocabulary or pronunciation? ficult to learn pronunciation,
W: Well, I find it difficult to learn pronunciation.
Q: What does the woman find difficult?
15. W: I'don’t believe we’ve ever met before, have we? Ligtr e[ A, =5 520k 0 5, % -+ U i) We’ve been in-
M: We’ve been introduced at other parties. Don’t troduced at other parties. Don’t you remember?
you remember? TR A £ DR A T
Q: What does the man imply?
16. M: I'd like to drive to the concert, but my brother AT (Bl. WS S BB, &+ ... but haven’t
is using the car tonight. you thought of the subway? #f J& #& 1% 3 #h &% %= .
W: No problem, but haven’t you thought of the but J5 #1E TR K4 . subway 5 underground #B#
subway? Mk, 8 TR LR,
Q: What does the woman suggest?
17. W: Could you lend me your pen? Mine has just run L4756 B], 35 S0R 08, 4+ B TENE, B+
out of ink. BB Z AR M E, extra BB EH 0, F
M: I'm afraid I don’t have an extra one. Would a

pencil do?

A7, H G B Would a pencil do? 2 fi i ) 3%
L & R %[ B, '




eI : i s

Q: How did the man respond to the woman’s re-
quest?
18. W: How do I look in my new dress?
M: It fits you like a glove and matches your eyes
perfectly.

Q: What does the man think of the woman’s new -

dress?

Now you’ll hear two long conversations.

Conversation One

W: Dr. Smith. I need to ask you about something in
Chapter 12. Well, it talks about erosion and the de-
posit of sediment (solid matter that settles at the
bottom of a liquid) on the deep sea floor, but I'm
confused. For that to happen, there would have to
be some kind of force down there moving the mud
or sand or whatever, right? But I thought there
weren’t any waves or currents that deep in the o-
cean.

M: That’s not exactly correct. It’s true that deep down
on the ocean floor we won’t have the same kinds of
currents we find in shallower parts. But we do find
what we call turbidity currents. This wasn’t in the
book but the term came up in class. Do you remem-
ber what it means?

W: Umh, turbidity currents? Oh, yeah! Isn’t that when
sediment like sand or mud gets stirred up and mixes
with water? And then this mixture flows through
the water around it, right?

: Good!

: Uh, but I thought that only happened in rivers.

o

: Well, yes. This does occur in rivers, but we see tur-
bidity currents deep in the ocean as well.

: But how do they get started there?

: Earthquakes mostly, when an earthquake occurs un-

= =

der water, it throws up tremendous amounts of mud
or sand that becomes suspended in a layer of water
near the bottom of the ocean. This layer is so much
denser and heavier than other ocean water that it
flows right down the slopes of the ocean floor and
gains more and more speed as it moves along. Then
it’s just like the winds blowing across the desert
picking up sand from one place and moving it along
and finally dropping it somewhere else.

Conversation Two

W: Hey, Jack. Now that the midterms are over, a
bunch of us should get away for the weekend to go
canoeing. Wanna come along?

M: Well, uhe, it'd be great to get away, but I've never
done it before.

W: None of the others have either except for me. 1
went once last fall. But there’ll be an instructor in
each canoe the first day. :

M: I don’t know.

Eozr

U@t Ykl A, WAAEES, fit like a glove N1, &

BRECEFAE” U IA]. At iR A HE
EATE BB X R, RE BB+ WG A
matches your eyes perfectly (AR Bt /R i IR i) » 2
AEAE 2 B AR T L L RHRR T

Questions 19 to 22 are based on the conversation you have

just heard.

19.

20.

21,

2

What is the main topic of the discussion?

Ui diE(B], 8. MiE—HFELtmB L%
] Chapter 12 1 fifs AN B (54 i P %5 « it talks about e-
rosion and the deposit of sediment (solid matter
that settles at the bottom of a liquid) on the deep
sea floor, but I'm confused, J5 ifi % i H 55 - #B &
S b ) 50 J8 F [ 225, AT O 3 A % 9 o 98 1 1 AR Vg
JEE UL VE W B 3

What does the professor ask the student to explain?
Ui YA, 40745 8. 5 -+ 7 fif B g I UL UE 4 iz
#3427 turbidity currents. 3 HIA WX ARG H
241 % | $2 & 1 (This wasn’t in the book but the
term came up in class) , fif LA B # % % + "] Do you
remember what it means?, A] UL 5 #8 i B 2% A i B
turbidity current,

According to the professor; how do earthquakes
cause turbidity currents?

D@ ATIE[B]. 4018, o+ 7E SR8 iR T 32 5
Isn’t that when sediment like sand or mud gets
stirred up and mixes with water, fi it 7] 1 turbidity
currents J& 15 b 5 4 B U8 A VD & R K IR A — s
3, BT LALBIAF AL .

Why does the professor mention desert winds?

U AT YE[ AT, HEFAE, OB B K 7R 3l i K
V& V0 UL BE 135 Bl i 2 B desert winds H B ¥ T /Y02
BRI 3L R R H0 7E 52 B i B i Bl TR 5
FH U HIVTIEY T LA4R K desert winds ()12 3l 4 fik 68
fil F% turbidity currents FIf 7 3 [ 5 .

Questions 23 to 25 are based on the conversation you have

just heard.

28

What is the main reason the woman calls the man?
UmAr (D], 40 8. &KX iEH we
should get away for the weekend to go canoeing.
Wanna come along? W] &l 4 -+ 76 8 i 5 + & 2 2 AR
£. M Wanna come along? )% < AT #f W7 J& 39 15
s [ D44 87, convince sb. to do sth. F“Hi iR}
AETEHE".
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W: Oh, come on. This is our last chance to take a
break before finals. The scenery is beautiful, and if
it gets too hot we can dive in whenever we feel like
it. The river’s really calm this time of the year, no
rapids to deal with. ©

M: That’s a relief. What would I have to bring?

W: Let’s see. Tom’s bringing food for the Friday night
cookout for everyone. And the people who run the
trip have tents set up and they supply food and
drinks for all day Saturday. On the way back Sun-
day morning we’ll stop somewhere for breakfast.
So, you have to bring a bathing suit and a sleeping
bag.

M: Well, I do love camping and sleeping out. Where is
the place?

W: Well, it’s about an hour and a half to the place
where we meet the trip leaders. We leave our car
there and they drive us and the canoes upriver to
the place where we start canoeing.

: And who’s driving us to the meeting place?

: Well, I was hoping we could take your car. Miqe’s

= 2

in the shop again.

: Oh, I see. It’s not me you want, it’s my car.

: Don’t be silly. So what would you say?

: Oh, why not!

: Great! I'll give you a call when I find out when eve-
ryone wants to leave on Friday.

Section B
Passage One

Edison is a well-known American inventor. He was
taught by his mother when he was a child. Later he
learned things by himself by reading and experimenting.
He built a lab for himself to work in, and he worked
very hard in his sixty years of scientific activities. He
made over a thousand inventions. Few inventors in the

S

world could have such great success. -

Edison’s first invention was made in 1868. He was
then a telegraph operator. He wished to work out a new
method to improve the old telegraph system because it
was impossible at that time for the system to send more
than one message along the same line at the same time.
He read all the works of Faraday, another great scien-
tist, before starting his invention. Sometimes he didn’t
g0 to bed and didn’t even stop to eat. He thought he
had very much to do and there was no time to lose.
Days and nights he was reading and reading. After he
read through Faraday’s writings, he began his experi-
ments. A few months later he succeeded in building a
double transmitter and improved the old telegraph sys-
tem.

Passage Two
In many parts of the world, farmers and their fam-

s 14 .
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24. What is one thing the man has to bring?
[T ELB]. AW 8. L3t 2K 2 BIA
—BRMEH KRR EMRBCELHIT T, B
ili you have to bring a bathing suit and a sleeping
bag, 1] L, 5 4 FUH B U Uk AR AR A4S , B [ B] 4 &

25. Why does the woman need to talk to the man a-
gain?
Otk (AL, 409 8, XI5 G — 47 g Tl
give you a call when I find out when everyone
wants to leave on Friday AJ I, 4 75 545 i 5 4
7 thh 22 R B i) 45 3 55 4 F 2 6 8 M0, BF LA LADIE
i .

Questions 26 to 28 are based on the passage you have just
heard.
26. What can we learn about Edison’s early education?

Ot Yk (B, 404 8. C+ ¥ # 42 5 He was
taught by his mother when he was a child, 34 % i

XPRER ., '

27. When did Edison make his first invention?

O trE[Cl. 4015 . % KK 42 Edison’s first

invention was made in 1868,

28. Why did Edison decide to improve the old telegraph
"~ system?
CAATIELCl. 4095 8. SCHh 1 i UK T 2 it 2 i
PR BRI 20t fX 4 U2 H K it was im-
possible at that time for the system to send more
than one message along the same line at the same

time, X 5[ Clii s —3.,

Questions 29 to 31 are based on the passage you have just




O
ilies live in villages or towns. In the United States,
however, each farm family lives on its own fields, often
beyond the sight of any neighbors. Instead of traveling
from a village to the fields every morning, American
farmers stay on their land throughout the week. They
travel to the nearest town on Saturdays for shopping or
on Sundays for church. The children ride on buses to
large schools which serve all of the farm families living
in the area. In some areas, there are small schools ser-
ving a few farm families, and the children walk to
school.

Of course life keeps changing for everyone, inclu-
ding farmers. Today there are cars, good roads, radios,
and television sets. And of course there are modern ma-
chines for farming. All of these have changed farm
life. 3

For many years, however, farming in America was
often a lonely way of living. Farmers had to deal with
their own problems, instead of getting help from oth-
ers. They learned to try new methods, and to trust their
own ideas instead of following older ways.

Passage Three

To get a driver’s license, you must take a series of
tests. The.first test is the vision test. ‘This test checks
your eyes to see if you have to wear glasses when you
drive. The second test is a written test that checks your
knowledge of highway and traffic regulations. You can
prepare for this test by studying a booklet that you can
get at the driver’s license office. After you pass the
written test, you receive an instruction permit. This
permit allows you to practise driving with an experi-
enced driver. The last test you have to take is a road
test. This checks your driving ability. If you pass it,
you will receive your driver’s license.

When you go to the driver’s license office to take
the road test, you must provide your own vehicle.
First, the license examiner checks the mechanical con-
dition of your car. Then, the examiner gets into the car
with you and asks you to drive in regular traffic. While
you are driving, the examiner tests you for such things
as starting, stopping, turning, backing up, and park-
ing. If you can’t control the car properly, or if you vio-
late a traffic regulation while you are taking the test,
you fail the examination. You will have to practice
driving more until you take the road test again and pass
it.

Section C
36. [% % Jexpansion
[## #7 Jexpansion & 5 “P" K, ?)?K"

s 15

28 KR T SCHR B B E AE 1960 4 HA 23 ke

Erems
heard.

29. What makes farmers in the USA different from
those in many parts of the world?
Otk (Cl. 4071 8. & Ik 4€ 2 In many
parts of the world, farmers and their families live
in villages or towns. In the United States, howev-
er, each farm family lives on its own fields ... YT
17 however J5 Bl M5 % . BTG WA AR ERE
B HTTE .

30. Which is true according to the passage?
DA Y[ B, 4747 8, 33 28 i AR ¥ 50 A A A SR L
HEBR k. REERAEALFEH  RRALFEA HEBRLAT;
AR K T — BN E R BT IIREER
#= b2 HEBRIC s e — M), TR R R 2 H =
BB B TS 2 S SF B, (DI AT HEBR . 4 3C
2% TR 2 B AL 4 IF 45 H AlL of these have
changed farm life, f It 7] 1245 %€ /2 [B].

31. What is the passage mainly about?
UmirYe[Al, 58, [B].[CIREEESHAEH
BIANTD7 T i HERR . & T3 EUR RAUHAL E R R RA
AR, RRTE XTIk — W, AR CER E
3, R (D HE B

Questions 32 to 35 are based on the passage you have just

heard.

32. What does the second test check?

DA IE (D). 4045 R0, i 25 I R0 i O B R v A
HEJE 3 (15 B The second test is a written test
that checks your knowledge of highway and traffic
regulations, [ D% Ji 3C i {5 B AR B .

33. What does the instruction permit allow you to do?
U b Ye[ Al 407 . fife 2 Bh B A G B R VE B Al
2 JE {5 B This permit allows you to practise
driving with an experienced driver. [ A7 J5 3
{5 B,

34. What do we learn about the road test?

U Y[ C. 40715 R, fife 225 O A0 i O B 2 B i i
Wi[ C] The examiner watches you driving in your
car J& X} X the examiner gets into the car with
you and parking... [ 445 .

35. Who are the most probable readers of the passage?
@AY [A], HEF B, MICE M E f To get a
driver’s license, you must take a series of tests 7] #fE
S ) E /& Drivers-to-be,

25 RS S B K SR BIBLAEA 48

B A2 AT HE S AR AR B — AN K BRI B A R RV

37.[% %] including

[ 47 Yinclude 4457 . %5 5 4 FHSE 5 W6 I 25 #6 T 26 9 /) 7 g 2 7 45 Hg o % AT — 40 A SE UL BT 94 . il SO



